MHoronpopuiabuasi
WHKeHepHasl 0JIMMIIHALA Iludp 303 -09 - o1

«3Be31a»

,Zgo/w v,

~ 4
HATPAT-ORDB ) =7

A ;

A S S U S

00001
X ‘i- ——————————

0,001 -

}
o Wi e v wme v [vem wm wwe

) | } ]

) - £ W ' - "’"""’h i

?)ﬂl) 285 459 515 580 QAGKTFO,EHHM B
noTEHLIAN 5 M

515500 pooi-«

S0 004-0,0007
B 5 49014

¢ 15 Qogos

X= 4, 901 =2 0,000.

72
vt 3 )
/aww 13 " Jp000
LT g1 20 4% 3 s ~
2 - - = - _ _4_7_‘_/2 “ g 4992 -
X000 " 739000 730000~ 72000 T gl - Tpgoo

= 0,000994 & 0,004

(%zawnyw /V,.w%fw SU RPN @ﬂ .
0,000%3 - 64 = 04898 F 004898 - 4000 = 44,98 -




MmuoronpoduiabHas
UHKeHepHasl 0JIMMIIMAaa MTudyp_ D -~ 03- 09-01
|~ «3Be3aa»

?gm 7z

Z = [ AZ [ - 8% -£4-10= 53&54

//@ng&v ontgur /J«z@té /gf/m { M/mé w74 Vfﬁ/

. x %WM gl G Mﬂ/f”/wﬁ( dy%’ Z%ﬂ%/jjﬁ A
W(/M% WW Y /2 /7”,7066%&%0 /M&ﬁ/ (/ ,

M A

JSpditeun  ozpprgerdt o ML WM/’M /
%M,& ) /Jw(/ﬁ dﬁ 5;& 5% j YR /%W/?‘Z&ﬂ&/ tz]
/zmo% 0 / % - (/é ootk (%ﬂq ;447«@%%6 AQ;
fgwme wz, X /1 L) g O AL %W[,/O’éé %&m /w Ha
/ZM///M/% /5ﬁ!77/5’r £)

20 . [ archssdiee




MHuoronpoduinHas
WHKEeHEePHasi 0JIMMIINaaa Hugp 2 03~ 09-01

«3Be3ma»

%W\ /'t/[/
(

Z,» DM, S4E 43y

— —

7 ¥ AV LI
L= 0,55+ 410+ 0,58+ 048 +14,08+ 4,5 - 5

L= A0,49-5 = 15,49 < 16

ol _spipaguens roli goppemidet:




